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M. A. (Fourth Semester) (Main/ATKT) 

EXAMINATION, May-June, 2021 

ECONOMICS 

Paper Fourth 

(Economics of Social Sector) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- rduhdh ifjorZu dk izHkko iznw”k.k ij iM+rk gS % 

¼v½ iznw”k.k c<+rk gSA 
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¼c½ iznw”k.k dk Lrj de gksrk gSA 

¼l½ iznw”k.k de rFkk vf/kd nksuksa gksrk gSA 

¼n½ mi;qZDr esa ls dksbZ ugha 

Technological change has an impact on pollution : 

(a) Increase pollution 

(b) The level of pollution is low 

(c) Pollution is both low and light 

(d) None of the above 

2- i;kZoj.k fu;a=.k esa vfuf’prrk dh n’kk rc gksrh gS % 

¼v½ tc MCR dh js[kk ck;sa ls nk;sa uhps fxjrh gqbZ gksA 

¼c½ tc MCR dh js[kk MD js[kk ds lerqY; gksA 

¼l½ tc dj rFkk lhekUr ykxr ijLij leku gksaA 

¼n½ mi;qZDr esa ls dksbZ ugha 

A situation of uncertainity in environmental control 

occurs : 

(a) When the line of MCR is falling down from left to 

right. 

(b) When MCR lines are equivalent to MD lines. 

(c) When tax and marginal cost are equal to each other 

(d) None of the above 
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3- iznw”k.k dk ^lelhekUr fl)kUr* rc gksrk gS] tc % 

¼v½ MCP = MBP 

¼c½ MCR = MCP 

¼l½ mRiknu = ykxr 

¼n½ mi;qZDr esa ls dksbZ ugha 

The equi-marginal principal of pollution occurs,  

when : 

(a) MCP = MBP 

(b) MCR = MCP 

(c) Production = Cost 

(d) None of the above 

4- lekt esa fdruk iznw”k.k xzká gS \ 

¼v½ vuqdwyre ls U;wure 

¼c½ vuqdwyre ls vf/kdre 

¼l½ vuqdwyre Lrj rd 

¼n½ mi;qZDr esa ls dksbZ Hkh ugha 

How much pollution is acceptable in the society ? 

(a) Optimum to minimum 

(b) Optimum to maximum 

(c) To the optimum level 

(d) None of the above 
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5- ^ihxwoknh* dj lEcfU/kr gS % 

¼v½ iznw”k.k dh ykxr o`f) ls 

¼c½ iznw”k.k fu;a=.k ls 

¼l½ iznw”k.k dh ykxr de djus ls 

¼n½ mi;qZDr esa ls dksbZ ugha 

Pigouvian tax is related to : 

(a) increasing the cost of pollution   

(b) pollution control 

(c) reducing the cost of pollution 

(d) None of the above 

6- izkd`frd iw¡th dks ekius esa fuEufyf[kr esa ls dkSu&lk ?kVd lfEefyr 

ugha gS \ 

¼v½ jk”Vªh; th- Mh- ih- 

¼c½ jk”Vªh; th- ,u- ih- 

¼l½ ?kj esa fd;k x;k mRikn 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following component is not included in the 
measurement of natural capital ? 

(a) National GDP 

(b) National GNP 

(c) Homemade product 

(d) None of the above 
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7- ^gfjr ys[kkadu* D;k gS \ 

¼v½ izkd`frd lalk/kuksa dk ys[kkadu 

¼c½ i;kZoj.kh; xq.koŸkk dk ys[kkadu 

¼l½ izkd`frd lalk/ku rFkk i;kZoj.kh; xq.koŸkk dk ys[kk&tks[kk 

¼n½ mi;qZDRk esa ls dksbZ ugha 

What is ‘Green Accounting’ ? 

(a) Accounting of natural resources 

(b) Accounting of environmental quality 

(c) Accounting of natural resources and environmental 
quality  

(d) None of the above 

8- fuEufyf[kr esa ls dkSu&lk ?kVd ^csgrj thou ladsrd* dk vax gS \ 

¼vkfFkZd lg;ksx vkSj fodkl laxBu ds vuqlkj½ % 

¼v½ Jfed dk dk;Z 

¼c½ vodk’k dh deh rFkk vijk/k 

¼l½ O;fDrijd HkykbZ 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following components is a part of a better life 
indicator ? (According to OECD) : 

(a) Work of a labour 

(b) Lack of leave and crime 

(c) Subjective well-being 

(d) None of the above 
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9- ßVksih vkSj O;kikjÞ dc laHko gS \ 

¼v½ O;kikj ds lkFk dkcZu mRltZu gksrk gksA 

¼c½ dkcZu mRltZu (CO2) uk gksA 

¼l½ O;kikj&m|ksx ds fy, vuqKk yh gksA 

¼n½ mi;qZDr esa ls dksbZ ugha 

When is cap and trade possible ? 

(a) When trade there would have been carbon emission 

(b) No carbon emission 

(c) Permit is obtained for trade industry 

(d) None of the above 

10- /kkfjr jk”Vªh; vk; (Sustainable National Income) fuEufyf[kr esa 

ls fdlh ,d lehdj.k ij vk/kkfjr gS \ 

¼v½ SNI = EDE + NNP – DNC 

¼c½ SNI = DNC – NNP + EDE 

¼l½ SNI  = NNP – DNC – EDE 

¼n½ mi;qZDr esa ls dksbZ ugha 

tgk¡ % 

SNI = lrr~ jk”Vªh; vk; 

NNP =  okLrfod jk”Vªh; mRikn 

DNC = izkd`frd iw¡th dh f?klkoV 

 EDE = i;kZoj.kh; lqj{kkRed O;; 
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The Sustainable National Income (SNI) is based on any one 
of the following equation : 

(a) SNI = EDE + NNP – DNC 

(b) SNI = DNC – NNP + EDE 

(c) SNI  = NNP – DNC – EDE 

(d) None of the above 

where  : 

SNI = Sustainable National Income 

NNP = Net National Product 

DNC = Depreciation of Natural Capital 

EDE = Environmental Defensive Expenditure 

11- vkfFkZd lag;ksx fodkl laxBu (OECD) ds vuqlkj ekuo&fu/kZurk 

lwpdkad (Human Poverty Index) esa dqy pj (variables) gSa % 

¼v½ ,d 

¼c½ rhu 

¼l½ pkj 

¼n½ nks 

According to Organisation of Economic Cooperation 
Development there are four variables in the human poverty 
Index : 

(a) One 

(b) Three 

(c) Four 

(d) Two 
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12- ;fn fdlh ns’k esa izkd`frd iw¡th i;kZIr gS ysfdu ogk¡ dh ekuoh; 

iw¡th fuf”Ø; gS] rks og ns’k gksxk % 

¼v½ vehj 

¼c½ v)Zfodflr 

¼l½ xjhc 

¼n½ mi;qZDRk esa ls dksbZ ugha 

If a country has enough natural capital, but its human capital 
is inactives, it will be that country : 

(a) Rich 

(b) Underdeveloped 

(c) Poor 

(d) None of the above 

13- vf/kdre ek= esa fuEufyf[kr esa ls dkSu&lh xzhu gkml xSl orZeku esa 

ekStwn gS \ 

¼v½ izksisu 

¼c½ ,Fksu 

¼l½ CO2  

¼n½ ehFksu 

Which of the following Green house gases is present in very 
high quantities ?  

(a) Propane 

(b) Ethane 

(c) CO2 

(d) Methane 



 [ 9 ] E–884 

 P. T. O. 

14- lrr~ fodkl dk vk/kqfud fopkj fuEufyf[kr esa ls fdlh ,d ij 

vf/kd dsfUnzr djrk gS % 

¼v½ lkekftd fodkl 

¼c½ i;kZoj.k laj{k.k 

¼l½ vkfFkZd fodkl 

¼n½ mi;qZDr esa ls dksbZ ugha 

Modern concept of  sustainable development focuses more 
on any one of the following :  

(a) Social development 

(b) Environment protection 

(c) Economic development 

(d) None of the above 

15- ekuo fodkl lwpdkad dh [kkst fdlus dh \ 

¼v½ jkWfcUl 

¼c½ ts- ds- esgrk  

¼l½ egcwc&my&gd 

¼n½ vYÝsM ek’kZy 

Who invented the Human Development Index ? 

(a) Robbins 

(b) J. K. Mehta  

(c) Mahbub-ul-Huq 

(d) Alfred Marshall 
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16- fuEufyf[kr esa ls dkSu&lk xSj&uohuhd`r ÅtkZ dk lzksr gS \ 

¼v½ isVªksfy;e 

¼c½ izkd`frd xSl 

¼l½ dks;yk 

¼n½ mi;qZDr lHkh 

Which of the following is a non-renewable sources of  

energy ? 

(a) Petroleum 

(b) Natural Gas 

(c) Coal 

(d) All of the above 

17- vkstksu ijr laj{k.k fnol dc euk;k tkrk gS \ 

¼v½ 21 vxLr 

¼c½ 16 fnlEcj 

¼l½ 16 flrEcj 

¼n½ 16 vDVwcj 

When was celebrated the Ozone Depletion Protection Day ? 

(a) 21 August 

(b) 16 December 

(c) 16 September 

(d) 16 October 
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18- tyok;q ifjorZu ds izeq[k dkj.k gSa % 

¼v½ taxyksa dh deh 

¼c½ tula[;k o`f) 

¼l½ CO2 esa o`f) 

¼n½ vkS|ksxhdj.k 

Main causes of climate changes : 

(a) Lack of forests 

(b) Population growth 

(c) CO2 increasing 

(d) Industrialization 

19- ^xzhu gkml xSl* ‘kCn dk loZizFke iz;ksx fdlus fd;k \ 

¼v½ bZ- vkWLVªe 

¼c½ ih;lZ 

¼l½ Lokars vghZfu;l 

¼n½ gsfM;u 

Who used ‘Green House Gas’ word for the first time ? 

(a) E. Austram 

(b) Peers 

(c) Swante Arrhenius 

(d) Hedian 
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20- HkweaMyh; rkieku dh o`f) esa dkcZu MkbZvkWDlkbM dk ;ksxnku fdruk 

izfr’kr gS \ 

¼v½ 45% 

¼c½ 52% 

¼l½ 57% 

¼n½ 45% 

What is the percentage of carbon dioxide contributing is the 
method of global temperature ? 

(a) 45% 

(b) 52% 

(c) 57% 

(d) 45% 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2 ;k 3 okD;ksa esa nhft,A 

 Attempt all questions in 2 or 3 sentences. 

1- ekuoh; iw¡th D;k gS \ 

What is Human Capital ? 

2- xzhu gkml izHkko D;k gS \ 

What is Green House Effect ? 
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3- lrr~ fodkl dks ifjHkkf”kr dhft,A 

Define sustainable development. 

4- HkkSfrd iw¡th dh ifjHkk”kk fyf[k,A 

Write the definition of physical capital. 

5- gfjr vFkZO;oLFkk D;k gS \ 

What is Green Economy ? 

6- f’k{kk dk mRiknd O;; D;k gS \ 

What is productive expenditure on education ? 

7- ekuo fu/kZurk lwpdkad fdls dgrs gSa \ 

What do you called Human Poverty Index ? 

8- dqtusV~l oØ D;k gS \ 

What is Kuznet’s curve ? 
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(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words each. 

1- LokLF; vFkZ’kkL= ds fu/kkZj.k rRo D;k gSa \ 

What are the determination factors of Health Economics ? 

2- xSj&uohuhd`r lalk/kuksa dks lksnkgj.k le>kb,A 

Explain the non-renewable resources with examples.  
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3-  

 

 

 

mi;qZDr js[kkfp= dks i;kZoj.kh; n`f”Vdks.k ls le>kb,A 

Explain the above diagram in environment point of view. 

4- vkstksu {kj.k dks laf{kIr esa le>kb,A 

Explain in short the ozone depletion. 

5- dqiks”k.k dks laf{kIr esa le>kb,A  

Explain in short the malnutrition. 

6- O;kolkf;d iznw”k.k vuqKk D;k gS \ js[kkfp= ls le>kb,A 

What is Tradable pollution limit ? Explain by diagram. 

7- xzhu gkml xSl ds dkj.k fyf[k,A 

Write the causes of Green House Gases. 

8- iznw”k.k fu;a=.k esa rduhdh ifjorZu dk D;k izHkko gS \ js[kkfp= ls 

le>kb,A 

What is effect of impact of technological change ? Explain 
with diagram. 

 [k.M&n izR;sd 5 

(Section—D) 
nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words each. 

1- i;kZoj.k rFkk vkfFkZd ys[kkadu dh iz.kkyh dks le>kb,A 
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Explain the system of environment and economic 
accounting. 

vFkok 

(Or) 

 

 

 

 

 

 

 

 

mi;qZDr js[kkfp= dks oSf’od tyok;q ifjorZu ds lanHkZ esa le>kb;s 

fd ^dkcZu vuqKk dher* dk fu/kkZj.k dSls gksxk \ 

Explain the above diagram in the context of global climate 
change, how will the carbon permit price be determined ?  

2- i;kZoj.kh; lrr~ fodkl dh vo/kkj.kk dks le>kb,A 

Explain the concept of environmental sustainable 
development. 

vFkok 

(Or) 

f’k{kk ds vFkZ’kkL= ij laf{kIr fucU/k fyf[k,A 

Write a short note on the Economics of Education. 
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3- ÅtkZ n{krk rFkk i;kZoj.k dks js[kkfp=ksa dh lgk;rk ls le>kb,A 

Explain with the help of diagrams to energy efficiency and 
environment. 

vFkok 

(Or) 

izkd`frd lalk/ku dks oxhd`r djrs gq, xSj&uohuhd`r lalk/kuksa ij 

vius fopkj nhft,A 

Classifying natural resources and give your opinion on non-
renewable resources. 

4- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ LokLF; esa vlekurk 

¼c½ ekuo fu/kZurk lwpdkad 

Write short notes on the following : 

(a) Inequality on health 

(b) Human poverty Index 

vFkok 

(Or) 

iznw”k.k fu;a=.k ds lelhekUr fl)kUr dks js[kkfp=ksa dh lgk;rk ls 

le>kb,A 

Explain the equi-marginal principle of pollution central with 
the help of diagrams. 
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